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General Instructions-

1.All the questions are compulsory.

2.Choose your answers carefully before clicking the options.
3. Leave the browser only after submitting successfully.

A.Read the following passage carefully and tick the correct option. (5x1=5)

We were exhausted from all the work. We slept in shift. One of us had to be
awake all the time. Finally, we got to our destination. We had reached the
space station. We had so much to do every day on our ship. Now there would
be more people to help us. We would be on a collaborative team. When we
moved into the space station, | felt great. There was so much more space.We
would have real beds to sleep in. e would have better food.

The six astronauts on the space station were happy to see us. They said, “ We
have been waiting for you.”We are glad to see them too. That first night on the
space station was great. We had good food. We had a good dinner. Then we
were going to sleep. But one of the astronauts said, “We need to give you a
job. Each person has to take turns staying awake.Here is the schedule. “l saw |
was first.l would have to stay awake tonight.l had been awake and working for
20 hours. | became an astronaut so that | could travel in space. Now I’'m here.
It is hard work. It’s even more challenging than | expected.

1.The above story is told by a/an

i.pilot ii.boatman iii.driver iv.astronaut
2.The job which was assigned to the speaker is

i.to fly the aeroplane ii.to sit on the rocket

iii.to watch the the rocket iv.to stay awake

3.The number of people waiting for the speakerwas

i.sixty ii.sixteen iii.sixty five iii.none of the above.



4.According to the speaker the dinner was not good at all.

i.True ii.False

5.The word which is used in para-2 ,is the opposite word of ‘asleep.’
i.stay ii.dinner iil.awake iv.glad

B.Complete the following sentences using suitable collective nouns from the
following box. (4x1=4)

Mr.SundarlalBahuguna was known for his ChipkoMovement.He had
plantedmany(6) of trees in his area.A(7) of people visits his
plantation area everyday. They all thank him for his contribution.One day he
was invited to a grand programme as a guest.He was welcome with a
(8) of flowers.He has employed some people to look after his
orchard.One of the members has kept a(9)  of bees to cultivate honey.

[bouquet, swarm, clusters, crowd]

C.Match the following. (3x1=3)

Niraj and his friends were going to school.(10) __all came across a cat lying
on the road.They all stopped to see what had happened.The cat was lying
lead.(11)  was not even breathing.Nirad took out his bottle from his
school bag.He was about to put some water into its mouth.The cat suddenly
sprang up and ran away.Nirad and his friends burst into laughter.All friends
went to school and shared the story in the class.The whole class also

enjoyed.The teacher clapped and thanked(12)  for their kindness to
animals.

A B

10 them

11 they

12 it



D. Read the following extract carefully and answer the questions by pressing
the right button. (3x1=3)

“This is your last chance.If you do not perform well in the term-end
examination also,you will be punished.”(Mix up at Birth)

13.The speakerisin __ mood.

i.happy ii.sad iii.thoughtful iv.warning

14.The speaker is telling the above sentence to

i.Raj ii.Rahul iii.Rahul’s father iv.Raj’s father
15.The speaker of the above words is in

i.Playground ii.Market iii.School iv.Rahul’s home
E.Tick the correct option. (4x1=4)

16.The story “Mix-up at Birth” tells about a famous cricketer named
as

i.SunilGarg ii.AnilGavaskar iii.AnilGauda iv.SunilGavaskar

17.The above cricketer was born on

i.10 June 1949 ii.11 July 1939 iii.10 July 1959 iv.None of the above
18.Nan-kaka has marked a hole on the top of the of the baby.
i.ear drum ii.ear wax iii.ear lobe iv.nose

19.The baby cricketer was exchange when he was given
i.birth ii.bathe iii.bath iv.injection

20.Raj was good in both cycling and crafting.

i.TRUE ii.FALSE
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